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QUESTION 1

Which of the following is NOT a port name in Fibre Channel. 

A. FL_Port 

B. E_Port 

C. TX_Port 

D. U_Port 

Correct Answer: C 

 

QUESTION 2

If no data migration plan is set, with SmartTier enabled, there will be no data movement at al between tiers. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 3

What is NOT a parameter used to identify a hard disk? 

A. Block size 

B. Bandwidth 

C. Rotations per minute 

D. Latency 

Correct Answer: B 

 

QUESTION 4

Which of the following is not involved in the SCSI Protocol Addressing? 

A. Host ID. 

B. BUS ID. 

C. Device ID. 

D. LUN ID. 
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Correct Answer: A 

 

QUESTION 5

When using LAN-based backups it is best to create a dedicated backup network. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 6

When does data become information? 

A. When it has been stored in the right file format. 

B. When it has been stored in a digital form. 

C. When the company understands the data and learns from it 

D. AH of the above. 

Correct Answer: C 

 

QUESTION 7

Statement 1: OceanStor Dorado systems are designed for high performance environments. Statement 2: OceanStor
Dorado systems are so-called All Flash Arrays. 

A. Statement 1 and 2 are true. 

B. Statement 1 is true; Statement 2 is false. 

C. Statement 1 is false; Statement 2 is true. 

D. Statement 1 and 2 are false 

Correct Answer: A 

 

QUESTION 8

What is a storage array? 

A. system that handles the communication of data from end users to its storage location and provide confirmation on
successful storage. 

B. A system that manages the network functions and carries the data traffic from host to storage. 
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C. A system that has the management software that can provide access to its sets of hard drives or tape libraries for the
purpose of data access and storage. 

D. A system that handles the interconnection of hosts to disks drives and allows hosts to directly access the disks and
use it as local drives. 

Correct Answer: C 

 

QUESTION 9

Statement 

1: Fiber optic cables must be bended with a minimum radius of 10 centimeters. Statement 

2:

 Bends and dirt causes the light signal to be weaker and the sensor cannot detect the light pulse then. 

A. 

Statement 1 and 2 are true. 

B. 

Statement 1 is true; Statement 2 is false. 

C. 

Statement 1 is false; Statement 2 is true. 

D. 

Statement 1 and 2 are false. 

Correct Answer: C 

 

QUESTION 10

Which of the following occurs after multipathing software is installed on a host? (Multiple Choice) 

A. Maps a LUN to the host 

B. Avoids logical errors from occurring in the operating system as a result of multiple reachable paths to the same LUN. 

C. Improves link reliability and prevents the failure of a single link from causing a system failure. 

D. Sets up connection between a storage device and the host. 

Correct Answer: BC 

 

QUESTION 11
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In a clustered NAS architecture, which of the following allows multiple file system to be consolidated and does not need
to be managed separately? 

A. Global Namespace. 

B. Global Sharing. 

C. Global Cache. 

D. Global Concurrency. 

Correct Answer: A 

 

QUESTION 12

Which of the following cloud service model deals with providing storage, network servers and virtualization of
resources? 

A. Infrastructure As A Service (IaaS) 

B. Storage As A Service (IaaS) 

C. Software As A Service 

D. Platform As A Service (PaaS) 

Correct Answer: C 

 

QUESTION 13

Connecting an OceanStor 5300 V3 to three disk enclosures requires.......... SAS cables. 

A. 3 

B. 6 

C. 9 

D. 12 

Correct Answer: B 

 

QUESTION 14

Storage controllers can be separated from the chassis of disk enclosures. It does not need to be integrated in design
with the disk enclosures. 

A. TRUE 

B. FALSE 
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Correct Answer: A 

 

QUESTION 15

Select the correct statements that describes the properties of Distributed Object Storage Architecture. (Multiple Choice) 

A. Metadata servers manages the access requests. 

B. Does not support x86 servers. 

C. Clients can pinpoint the location of targeted data without metadata servers, 

D. Multi node concurrent I/O connection. 

Correct Answer: AD 
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